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1. (a) Select the correct answer of the
following : 1x3=3
(i) Which of the following pairs give the

same osazone?

(1) Sucrose, Fructose

(2) Mannose, Fructose

(3) Glucose, Galactose

(4) Maltose, Lactose
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UNIT—I

Answer any one question

2. (a) Predict the stereochemical products

(b)

(c)

(b)
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obtained in the following electrocyclic

reactions (any one) :

Ty

CH3 H H CH3

(i)
CH3

o 6
CH3

te the following teaction and
sm involved :

hv »

Comple
discuss the mechani

O—CH,—CH=CH>

CH3 CHj

4T N

briefly as to how a conjugated

nder photochemical conditions
n via a disrotatory

Explain
diene u
undergoes cyclizatio

path.

convert trans-

How would you
5,6-dimethy1-l,3—cyclohexadiene into its
cis-isomer?

Draw the MO of 1,3-butadiene indicating
HOMO in the ground and excited state.
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(C) Wnte the products

in the followjng
{a.l‘ly one) :

‘ﬁ{ith stereochemistry
Diels’Alder reaction

omer Of o

0-D-f :
ructopYrapose D MEOH/H
Cl1
i % A)
"2|H,0
H30+
— Meop> hyd
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(C) SrCo,

Strontjym salt

Blycolic acid

_

£ o e md}

S

(.5 )

(c) Explain that C-2 epimeric aldoses give
the same lower aldose by Ruff
degradation. 3

(d) What is epimerization? Explain it
considering the conversion of
D-mannose to D-glucose. 3

5. (@) Why does the anomeric —OH group
undergo methylation with CH5;OH and
with HCl under reflux but others
do not?

(b) Convert D-fructose to D-glucose.

(c) Determine whether D-glucose is in a
furanose or a pyranose form from the
following data : 4

MeOH/HCI Me,S04/NaOH

D-glucose 2 _/_ —> ol Y > (B)

_diLHCL , (O __I'Egg,_) (Methoxy malonic acid

(d)
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+ Dimethoxy glyceric acid + dimethoxy succinic acid
+ Methoxy acetic acid)

+2
Erythrose _I_(Q_N__a e > Nay Hgg,-
H,S0, A H,0*
(A) + (B)
() N9, Dibasic acid (optically active)
(B) _I_{_N_Qf’—:» Dibasic acid (optically inactive)
Identify A and B. 2
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6. (a)

(b)

(c)

7. (a}
(b)
(c)
8. (a)
(b)
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Answ
er C[ny Oone questl_on
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(d)

(@)

(b) -

Step 1

Step 11

Step III :

()

(d)
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Sulpha drugs work like antibiotics but
they are not antibiotics. Is this a valid

statement and why? 2V

sources and

Name the food the

deficiency diseases caused due to lack
of vitamin C. 2%

Write in brief about the medicinal

importance of curcumin. 2

synthesis of an
using the
1%+1Y%+1=4

Carry out the
antimalarial-chloroquine

following sequential steps :

Synthesis of S5-dimethylamino-
2-amino pentane from AAE.

Synthesis  of  4,7-dichloro-
quinoline from m-chloroaniline
and oxalyl acetic ester.

Synthesis of chloroquine from
above amino and quinoline

derivatives.

Name the chemical responsible for
antiseptic properties of Dettol.
from

Synthesize sulphanilamide

sulphanilic acid.
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UNIT—V

Answer any ope question

10. (a) Synthesize (&)

j
%-terpineol from p-tolu
acid.

(b) Establish the

11. (@) What ape 8eTaniol angq perol? H‘;"
would yoy assign their configuration:

(b) Complete

O-terpineg]

1% alk. Ko,
Cio \>
: 10
%}

[ ketohydroxy acid |—
(@!

10
ketoglc(;(me Warm, aj, KMno, terpenylic

Cs
KMHO4

bic
NN e tere Cr
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